Corrigendum Test 8
No changes in today’s paper

In Q.21 there was a doubt in 3" statement regarding implementation of India’s first
Green Energy convergence project- Under the project, agricultural pumps will be
distributed to farmers.

It is a correct statement.

Explanation: Under the project, EESL will replace around 6300 agricultural pumps with
more energy efficient pumps (energy efficient agricultural pumps will be provided). This
would help farmers as it would reduce the overall power consumption. Thus, energy
efficient agricultural pumps will be provided under the project.

Source: https:/ /pib.gov.in/PressReleasePage.aspx?PRID=1673497

Test 7

In Q.46 some students were confused as to what is the primary reason behind Earth’s
radius being larger at the Equator than at the poles.

Explanation: The question asks the primary reason behind equatorial bulge (Earth’s
radius larger at the Equator than at the poles). The primary reason is the long-term
effects of the Earth’s rotation. There might be other reasons as well. Pull of gravity
being higher in poles is due to equatorial bulge. It is not the primary reason behind the
Equatorial bulge.



